HEH BFI)FEEEE

QW EFD T T 7
(EEFR B 175
PRSI EH B ¥ —

O
WS

NN \\\~ . '///

)

o)

[ [-Fpk 20 42 EERF e e 3L A 70 973 (i 20 £ S = O MR A 72 BRI 1 1 T
PRk 21 43 A

FRk 20 FEFTTEFRER T 2 RIFEFAIIB N T, BIEUEIT T 7 kR 72
Bl & U TRERK 21T - P EREE T,

AGEDBREE I ST TR ERR A HE L, AEORPLUTIG U T, HLHFEE
AREIFLY, HLWREEZHELEY T2 & TEEH~OHKE - HLE -85

FEEEZATVELL,




20

1/9



20

D 14
)

®)

y=f(x)
X=a
f(a)
y=f(x) f(a)
y = ax”’ Xy y=axX’ X VY
y = ax
y = ax”’ y=ax’
y=ax’
y = ax”’ y=axX’+q X
y=ax"+q y=ax’+q
y=ax®+q y=ax +q

2/9




4)

20

2 y = ax’ y=ax-p° x vy
y=a(x-p) y=a(x-p)
y=a(x-py | y=a(x-pf
. y=ax’ y=a(x—p)’ +q
y=a(x-p)’ +q X py
q
y=alx-p)+q y=a(x—p)’ +q
10
y=a(x-p) +q
11
y=ax +bx+c
12
14
)
)
(@]
11 14| y=aX +bx+c
(
)

3/9




20

)

)
11 14
)
)
10 | y=alx-pf+q
)
)
10 11
(@)
y=Xx?+bx+cC y=(x—pf+q
y=x?+bx+c y=(x-pf+q
)
0 y=(x+3f-5 y=(x+3f-5
G
(-3-5)

(x+3) —5=x>+6x+4
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